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16 116 £ BE <ED 19 428”9
17 405 ER BE <IO0B> 2 42373
18 401 =fA #z <<IOoB> 1 41976
19 201 £F E <EDD 14 44773
20 206 R H <EO0B> 13 446”3




£54% 152176 EE HE(T)
5000m 27 (19964F) HAARIT

POINT
L— [|:{id
1 103 =M BFE  <B2> 1521741 5(1) 16'3678
2 107 X #th <EB1D 18(@) 193279
3 320 IFEe K& <I3> 16'55” 12(@) 180773
4 338 FE B <I2> 1650”7 6(Q@) 1648”5
OPEN
148 B 452
1 334 =2iE =& <I2> DNS
2 =f/ #z <IOoB> 3 16’2470
3 326 F EE <I3> 1658 11 174977
4 310 #Il HHEE <IH 14 18'32”6
5 201 £F BE <EoB> 17307 10 174470
6 319 ik /Rt <ID DNS
7 314 BA 2 I 19 19'58”8
8 302 e Bk <I3D 17 19'1779
9 322 hE BE <ID 20 20'33"1
10 402 R FE <IMD DNS
11 403 SEIE HEA <IM1D> 13 181870
12 329 R = <I2> 1 154570
13 405 EE BE <IOB> 2 16’1479
14 411 Fft fi— <T OB 4 16'35”3
15 206 [pdss) <EO0oB> 15 183673
16 207 MR —F <EOB> 16 184174
17 420 £F F <IO0B 21 2055”8
18 421 A¥ BEBIE <IOB> 7 16'57"3
19 424 A & <TO0B> 8 173574
20 205 i AKX <EO0B> 9 1740”9




&5 5474 BR £(I)
400mH 26[E](19954F) B 25 [ 37
POINT
L—y IRHL
2
3
4 301 HE Bt <I3 1 64”5
5 330 HME FE I 3 72”5
6 106 iy Bk  <BH 2 68”2
7
OPEN
148 |-l
2
3 310 Ml HHHL <I4> 6379 DNS
4 305 BHEA # <ID 1 6574
9 314 BA EF IO 3 7174
6 201 £F E <ED2 2 7070
7




4 X 100mR

POINT

3L—y

CEEEIX®

FN— K4 A
112 D fEX 1
105 BH L 2
106 il BR 4
111 Bl E 1
108 EAR B 1

JEAZ(3D) 47”64

FEIE 108 — 106 — 105 — 112

£i08F 4371 HRIKCKRE-RBA-f2%-EA)
25[8](19944F)

HHEAXIL
4L—>
CHRERIEKRE
FIN— K4 FE
328 HE EC 2
329 R E 2
331 BlE - 2
337 ]yt EE 2
309 W 2 4
IERL( QD). 45”17

OPEN (LI TEIB)

148

2L—>

<HEIFIZT>

FonR— K4 A
415 ik Ryt ITM2
301 Al it T2
403 HIE B IMI
414 Hep #FHth ITO0B

NE52(4) 48”2

FEIE 329 — 328 — 331— 309

6L—>

<BLEAD>

Fon— K4 A
325 FE IES I3
316 e [ESR I3

401 =f #fz IOB
417 FEE I T2
JE4Z(2) 46”9

5L—>

BEONEVNHRRF—LDO

FonN— K4 A
200 £F E ED2
203 RN W EM2
202 E&RE IEH EO0B
204 # EBME EM1

JIE{SL(5) 48”79

IL—y

< >

FoNn— K4 A

NEHC )




OPEN (LI T EIB)

248

2L—>

ELBICWSATF—LD

Fon— K4 A
208 e = EOoB
207 "R —F  EOB
206 % H EOB
205 Bft sAK  BOB

JE (1) 50”1

4L—>

<2521 >

Fon— K4 A

310 *E IEER I3
337 iE BH I3

L—y

NEEHNITEDHY>

FoNn— K4 A
314 EBXR EF

312 & B|X

412 7 B

306 ZiE EE

JIE{3L(2) 52”6

I4
I4
Im2
I4

322 =% #<z IOB
304 FiE B T2

{3 (4) 5575

6L—>

<EHyTad>

Fon— K4 A
111 B B E1
119 K&k EiC B
118 AHA Es%F B2
117 Wi = E4

NE£(5) 59”5

5L—>

(BT RBF—LD

Fonn— K4
1M3EKR &
102 5ff &£
116 £ BER
110 5@ BF

B FIE S8 FE 4
B

—_ N

—

JIE{L(3) 53"

L—>
< >
FoNn— K4 A

NEHC )




4 X 400mR S58 32473 WIKGER-AM-F8-BI)

25[8](19944F) HEASXIL
POINT
3L—y aL—y
ERF—L(EEERIKXE)D CREIEXRSE
FN— K4 2E FR— K% Y-S

112 Bl EX 1 301 HE B 3
105 EH #H 2 316 #riE (&R 3
106 il Bk 4 327 Al &t 2
111 Bl E 1 332 Bk EE 2
103 = Ba 2 309 WM 3R 4
108 EAR 1

JEH2(3Q) 401”3 JBHL(1AD); 334”73

FEIE 106 — 108 — 105 — 112 FEIE 309 — 316 — 327 — 332

OPEN (T EIE)

148

2L—> 5L—>

K&E3BH5~bHYSD> REMRFERBER

FoN— KB SE FonR— K4 Y3
428 xa I 201  Jt¥ = ED2
422 7N I 203 #M Bk EM2
418 eIl I2 202 ™A —F EOoB
426 Al T 204  #&EFT BAK EM1

JE1Z(4) 40177 JEL(2) 348”3

6L—> IL—y

< > < >

FoN— KB SE Fon— K4 Y3

NE4C ) NE4C )




OPEN (T EIE)

248

2L—>

INRTTRIEFE x 3>

Fon— K4 A
203 IR & EOB
206 % H EOB

210 25 B2 RO0B
202 Bk IE# ROB

JE{L(3) 409”2
4L—>

FAREWNGE>

FN— K4 S

425 E#E B=]N T
325 ﬁ'ﬁﬁ & I3

412 = B IM2
301 HE IS I3
JIEL(5) 414”3
6L—>
<EITFA->
Fon— K4 A

103 =W B B2
107 X #ith B
201 ®F E EOB
104 FUE M =2

NE {2 (4) 40974

3L—y

<RtHE>

Fon— K4 A
304 i 7 N I3
326 FIl BEFE I3
302 HhE Bk I3
320 IERE K& I3

JEZ(1) 403”8

5L—>

<HL—HENngE>

FN— K4 A
310 Ml SHE4A I4
401 =f fz TIOB
322 FE RE I3
314 B &£F T4

JEL(2) 40777

IL—y

< >

Fon— K4 A

BB )




7E 1 Bk

RECLE 1mI1

Bk E1T(8) 9E(19784%F) —48

SEHE (T 14E(19834F) tHAARIL

POINT

EBFEL | 1m20 | 1m25 | 1m30 | 1m35 | 1m40 | 1m45 | 1m50 [ 1m55 | 1m60 [ 1m65 | 1m70 | 1m75 083 BT
318 #T =

— R J— J— J— X X X X

<T3> 1mgs | F P P P Ol O 1m70 2
12 %0 #X| P P P — — — — — — o) o) o)
15 1mos |1m80 | 1m85 [ 1m0 1m85 1

= m x O xQO | X x x
343 7BlE R#d

N 1
<I1> 1m66 m20 3

OPEN

EF4 1m20 | Tm25 | 1m30 | 1m35 | 1m40 | 1m45 | 1m50 | 1m55 | 1m60 | 1m65 | 1m70 | 1m75 BoE% NEAE
329 ¥\ B

<T2> O P P X X X 1m35 4
327 Al it o b b o o o o <O | x x| x x x o 1

I
410 FIE & —

X X X X

<T2> P O P o P P P o 1m55 2

203 kAN
P P P — X — 1m40 3

<EM2> O O O m

206 RHA

<EOB>




FEWE Bk

L5508k 6m82

K 517(D)

24[8](1993%F) KR ARAEH

POINT
J‘Eiﬁ 1m B 2[@1H 3[EH 4[a1H 5|18 61 H iﬂﬁ !IEﬁZ
309 2 F 6m04 | F 6mid | F | 6mi3d | 6mid | ., |
<T4> 6m69 K+ -— (0) +-— (—1.8) |[(+-— ) (=1.8) (—1.8)
112 B0 2K 4m67 4m61 4m77 — — — 4m77
<E1> 5m95 (+0) (+0) (+2.00  |(+-— (+-— (+-— (+2.0)
331 FG E— F F 5m86 5m59 5m93 F 5m93
<I2D (+-— (+-— (+2.4) (—1.4) (+£0) (+-— (£0)
105 BH &t 3m52 3m32 F 3m60 F — 3m60
<ED (—0.8) (%0) (+-— (+0) (+-— (+-— (+0)
OPEN
| EFH 1= H 3 H EéR NEAL
413 58 = 3m50 3m60 3m69 3m69 6
<T1> (+0) (+-— (£0) (£0)
330 HE & DQ
<T2> (+-— (+-— (+-—
109 ¥ kK= 3m25 2m74 — 3m25 7
<1 (+0) (—1.0) (+0) (+0)
329 %R & 4m69 4m80 3m85 4m80 )
<I2> (+0) (—1.8 (+0) (—1.8)
203 A 3m48 4m16 4m19 4m19 5
<EM2> (+0) (+0.4) (£0) (£0)
403 FHIE 3XEH 3m16 2m93 — 3m16 8
<IM1> (+0) (+1.4)  |(+-— (£0)
417 FE 4m16 4m34 4m27 4m34 4
<I2> (—0.49) (0) (—0.4) (=0)
201 €F E 3m69 4m13 4m57 4m57 3
<EO0oB> (+0) (+0.4) (—0.2) (—0.2)
208 Jt¥ = 5m16 5m47 5m27 5ma47 ;
<EOoB> (+0) (+0) (—1.0) (+0)




= Bk

OPEN
EF4A 1B H 2[E B 3[EH EC&% NEAL
331 FF #— DQ
<KI2> (+-— (+-— (+-—
112 &8 X 11m62 F 11m46 11m62
B (+2.0)  [(+-— (+1.2) (+2.0)
310 il 14 8m79 — — 8m79
<I4 (+2.0) |(+-— (+-— (+2.0)
115 10m90 10m49 10m75 10m90
<> (+1.6) (+2.0) (—1.8) (+1.6)
(+-— (+-— 4=
I
(+-— (+-— 4=




fai#

RECER 11m64

FLE #E@

%—og;rL 1EH 2EH 3EE & MEST |
316 ﬁﬁéﬂi 7m20 7m76 m70 m76 2
410 <;'§U12§> - 6m28 7m60 7m57 7m60 3
115<é57>zu.1 7m52 7m81 — Tm81 1

OPEN

EFH TS| 261 H 3EIH 5 MR
Wjﬁﬁ%#ﬁ 6m16 6m42 — 6m42 4
329 <§21§> = 5m19 5m82 5m52 5m82 7
314 ;517*:> BE | 4mst 5m05 5m51 5m51 8
326 fiIJI3I>EfE % 5m35 5m87 5m87 6
417<i§;’i 73 5m48 5m20 5m93 5m93 5
404 g E)PB >1$7‘ru x x 7m90 7m90 1
2o<6%’éﬁBB§ 6m75 6mi7 — 6m75 2
207 <‘él§8>_qz 5m23 — — 5m23 9
409 ZFE EX[ amor 4m91 4m69 4m91 "
41 fl’ﬁ'zj% x 4m76 4m85 4m85 12
322 ?:I%» (] 4m98 5m00 4m93 5m00 10

21[EI(19904F) 3L)IITE



Y

RFCER 49mb52 #HEA &=(D) 21[E(19904F) JIITE
POINT
EFH 1B H 2[E 3EE 4B 8 5[ 8 6= B B &% NEAE
410 iﬂi B— _ _ 39m46 i
305 J<§It|:3? # o) 33m78 2
103 fgz:%ﬁ . 24m71 3
OPEN
EFH .1 - NEAL EFH RC&R NEAE
310 ?ﬂzg@ﬂﬁffﬁﬁ. 28mad ; 204 <§g’8>ﬁ'*ﬂ 30m84 5
338<5§5i % 1 25meo 8 209 f%; ;qﬁ 43m88 1
202 <H§TB>E*§¢ 35m74 ) zgs% OﬁJéEﬂ 32m22 3
329<§2ﬁ>‘ Bl smao 13 207 ;;?B;EF 24m41 9
LA T 6 I B 17ma1 12
401 =8 #Z | .0 o 11

<IOoB>




#RR

RRBIKE ERIEXE ERBRIKE | HRIEXSE
OB OB
100m 3 7 6 4
400m 2 7 5 5
800m 3 7 5 5
1500m 5 5 3 7
5000m 5 5 3 7
400mH 3 6 4 0
4 x 100mR 2 4 3 2
4 x 400mR 2 4 6 1
rFSyo&E 25 45 35 31
EwS 4 5 7 0
FEE % 3 7 6 4
s 5 5 4 6
Py 2 7 7 3
J4—ILFE&E 14 24 24 13
&5t 39 69 59 44




